
𝑥ଶ − 3𝑥𝑦 − 10𝑦ଶ

(𝑥 −5𝑦)(𝑥 +2𝑦)

(𝑥 +2𝑦)(𝑥 − 5𝑦)
𝑥ଶ − 5𝑥𝑦 + 2𝑥𝑦 − 10𝑦ଶ

𝑥ଶ − 3𝑥𝑦 − 10𝑦ଶ

      −5        X       2      = c  −10

      −5      +       2       = b  −3a = 1
Factor

FOIL

𝑥ଶ − 3𝑥𝑦 − 10𝑦ଶ

𝑥ଶ − 5𝑥𝑦 + 2𝑥𝑦 − 10𝑦ଶ

(𝑥ଶ − 5𝑥𝑦) + (+2𝑥𝑦 − 10𝑦ଶ)
𝑥(𝑥 − 5𝑦) + 2𝑦(𝑥 − 5𝑦)

(𝑥 +2𝑦)(𝑥 − 5𝑦)

2𝑥ଶ + 10𝑥 + 12
2(𝑥ଶ + 5𝑥 + 6)

2(𝑥 + 2)(𝑥 + 3)

2(𝑥 + 2)(𝑥 + 3)
2(𝑥ଶ + 3𝑥 + 2𝑥 + 6)
2(𝑥ଶ + 5𝑥 + 6)

2𝑥ଶ + 10𝑥 + 12

𝐺𝐶𝐹 = 2
𝑎 = 1
Factor

FOIL

−𝑥ଶ − 5𝑥 − 6
−(𝑥ଶ + 5𝑥 + 6)

−(𝑥 + 2)(𝑥 + 3)

−(𝑥ଶ + 3𝑥 + 2𝑥 + 6)
−(𝑥ଶ + 5𝑥 + 6)

−𝑥ଶ − 5𝑥 − 6

𝑎 = −1
𝐺𝐶𝐹 = −1

Factor

FOIL

𝑥ସ + 5𝑥ଶ + 6

(𝑥ଶ + 3)(𝑥ଶ + 2)

(𝑥ଶ + 3)(𝑥ଶ + 2)
𝑥ସ + 2𝑥ଶ + 3𝑥ଶ + 6

𝑥ସ + 5𝑥ଶ + 6

2  𝑥ଶ + 10𝑥 + 12
2 (𝑥ଶ + 5𝑥 + 6)
    𝑥ଶ+2𝑥 + 3𝑥 + 6
   (𝑥ଶ+2𝑥)(+3𝑥 + 6)
   𝑥(𝑥 + 2) + 3(𝑥 + 2)
2(𝑥 + 2)(𝑥 + 3)

OR

𝑥ଷ + 5𝑥ଶ + 6𝑥
𝑥(𝑥ଶ + 5𝑥 + 6)

𝑥(𝑥 + 2)(𝑥 + 3)

𝑥(𝑥 + 2)(𝑥 + 3)
𝑥(𝑥ଶ + 3𝑥 + 2𝑥 + 6)
𝑥(𝑥ଶ + 5𝑥 + 6)

𝑥ଷ + 5𝑥ଶ + 6𝑥

Decomposition

Factor

FOIL

𝐺𝐶𝐹 = 𝑥
Factor

Factoring Combinations

Decomposition

𝐺𝐶𝐹 = 2
Forget about 
the 2
Put the 2 down 
Below I the 
Answee

𝑥ସ − 5𝑥ଶ − 36
(𝑥ଶ − 9)(𝑥ଶ + 4)

(𝑥 − 3)(𝑥 + 3)(𝑥ଶ + 4)

Factor Trinomials

Factor Differences of Squares
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